

Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

II Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0031

Name of the Student : NISHAR AHMED F

Father Name: FAZUL HAQ Mother Name: SHAKILA BANU

1	UNDERSTANDING INDIA ENVIRONMENTAL STUDIES/ EDUCATION	Th.	2	000	000	F
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

II Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0036 Name of the Student : RAGESH S

Father Name: SHANKAR K Mother Name: LAKSHMIS

1	MICROPROCESSOR AND ALP	Th.	4	7.00	28.00	B+
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

II Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0037

Name of the Student : RAGUBALAN R

Father Name: RAJKUMAR Mother Name : SUDHA

1	MICROPROCESSOR AND ALP	Th.	4	7.00	28.00	B+
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

II Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0038 Name of the Student : RAJESH S

Father Name: SUBRAMANIYAN S

Mother Name: NAGESHWARI S

ĩ	MICROPROCESSOR AND ALP	Th.	4	6.00	24.00	В
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

II Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0041

Name of the Student: SARANRAJ R

Father Name: RAVI KUMAR Mother Name : SARASWATHI

Ĩ	MICROCONTROLLERS PROGRAMMING	Th.	4	000	000	AB Fail
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

II Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0049

Name of the Student: THUSHYANTHAN S

Father Name: SEKAR Mother Name: PUSHPA

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	MICROCONTROLLERS PROGRAMMING	Th.	4	6.00	24.00	В
2	DIGITAL TECHNOLOGIES	Th.	2	5.00	10.00	С
3	MICROPROCESSOR AND ALP	Th.	4	6.00	24.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

II Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0054 Name of the Student : VISWAM S

Father Name: SUBRAMANIAN Mother Name : SANTHI

1	MICROPROCESSOR AND ALP	Th.	4	6.00	24.00	В
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.